ex:=2*a*sin (x/y);
prog: :exprtree (ex)

nops (ex
op(ex

’
’

’

X);
1)
2);
3);
(2,

p (ex,
(ex
p (e

17)

domtype (2) ;

domtype (2/3) ;

domtype (0.5) ;
(FALSE) ;
(e

X)

domtype
domtype

+, - *I /I AI
x div y, x mod y
abs, ceil, fact,

_plus(x,y), mult,

D902 ©2VPINY MIIN

22129°0 2N MNNRND PYIN
.DMIMDN KO DYNLIX ,MNI) .sin(3), 0.5, 1/2 : T

Matlab 2 nnw opLYO
:INT

DTN NS OPMTIPY .TI90 P P09 NP
.shift—-enter oy N7V 0>V
enter 1WNN VNINID

s INDINT
1+2/7

500!
float (500!)
DIGITS:=200: float (PI)
ifactor (48)
Matlab oy mwnd.sqrt (2) ~4-4
reset ()

: VPPN
operations MYyM operands DXTIINND D¥AIN DLVPMIIN
\Y DV MmN DMINY

.01577) DXTINN NINK ,DMNIVN DITIINN DINIPI DY

D2V DXNDN DXTIINN WV

: MW

float, floor, sign, sqrt, and, or, not
_power



identifiers Dnwn

MINVN NN NNNY NIRY N DTNN NII1D

reset () ;
domtype (%) ;
x:=1+T1:
domtype (%) ;

s:="this is a string":
domtype (s) ;

s2:="also this":

S.s2; 11uNWw

reset () ;

fi=—x"2:

domtype (f)

g:=x->-x"2: N117T¥179
domtype (g) ;

£(2);

g(2)

h:=(x,y) —>x"2+y"2:
h(l,2)

myabs:=x->1f x>=0 then x else -x end if:
myabs (3) ;
myabs (-3)

g2:=x->x+2;
w:=g2@dg; nNad7N
w(2)

ur=x-->f: non? 'P119 Nnd>9n
u(2)

TRUE,
TRUE or UNKNOWN;
TRUE and UNKNOWN;
not bool (1=2);
not bool (1<>2)

:MHINN

DM)NYN MNY 0 T2Y NIV

:NPXPND

Boolean DMNDYA DONVWN
FALSE, UNKNOWN :D"MIWON 3




set:={a,1,3,x->4};
nops (set) ;
set2:={a,3}:

set union set2;

set intersect set2;

set minus set2;
contains (set,1);
g:=x->-x"2:

map (set2,q) ;

g2 :=x->bool (x>0) :
a:=-4:

select (set2,g2);

seq:=1,a, TRUE;
domtype (seq) ;
nops (seq) ;

op (seq, 3) ;
seq[3];

seqg2:=1"2 $ i=1..6;

2 $ 10; 2 n'mpo 10 np nOTDO
sin(x) $ x in [0,PI,2];

seq3:=seq, seq2;
null () ;
seql2]:=2,3: seq;
delete seql2];seq;
max (seqg?)

lst:=[1,a,TRUE];
domtype (1lst) ;
nops (lst) ;
op(lst,3);
1st[3];

1st2:=[1];
1st3:=1st.[r,vy];
la,b,c]:=1[1,2,3];

contains (lst,1);
map([x,1,0],sin);
sort ([4,7,-21);

select ([4,7,-2]1,92);

; min (seg?)

11UNW

RRRUERY)

sets MMap
DXIVN XY MM 170

sequancesmMiIo
2092 O>T7191) DN DY NITIDN NNOPYI

lists mnw)
SN OPMIIN AVN) .OMINDI NITO

Nn"1U21N"0 NA¥N
a:=1: b:=2: [a,bl:=[b,a]l: a;

b;



x:=1:

for 1 from 1 to 5 do

X:=x+1:
end for;
y:=1:

for i from 1 to 5 step 2 do

yi=y+i:
end for

if
then

elif then

else

end if

myabs:=x->if x>=0 then x else -x end if:

myabs (3) ;
myabs (-3)

myFact:= proc(n)
begin
f:=1:

for 1 from 2 to n do

fo=f*i:
end for;
return (f) :
end proc:

testl:=proc(n)
begin

primes:=select ([$2..floor(n/2)],isprime) :
lst:=[n $ nops(primes) ]

: DINDYY

: OONIN

:MNTINNY
mNT

debugging:

notebook->debug 7NN NN ORNP

199N

LDMMVYNT MY DY D10 NI 2 1 DY N 1900 DI TaT9N nywn

isprime MNPNN WHNYNY TWIN

. )IM 1901 TY TATIN NIYWN AN NPTIAN MIDIN 12ND

D101 990D 712Y 121 N OND NPTIAN NNTXIND TN

- primes:

good:=select (lst,isprime) :
return (bool (nops(good)>0)) :

end proc:



n:=500:
1:=[2*T $ 1=2..floor (n/2)]:
select (1,not testl);

D929

.Q N¥MIp M

NOYPNN+: QX Q — Q MINDA NTWA N1 NN : DI
(X+Y)+Z=X+(Y+Z) nPDONSION -
X4+ Y=Y+X APDOVIMP -
D2 MR . F2eQ,VXe X+Z=X DINDOP -
X MR VXY, X+ Yy =0m»anorp -

TR DPPY NPDORNINON NNPPNN + : Qx Q —> O TINYA 1YW NN Y9 : NI
299)N NPNY 29N NY DDLVMIP NPNY 1PN KD

.ring .nyav NNIPI 9951 NN NNN NINON NP : DITHIN
field .nTv NNIPI MOLMP YO DY NYAV : NITHIN

s INRPINT
Dom: :Integer Z omndv -
Dom: :Rational Q ooNpd8yY -
Dom: :Float ,dom: :Real R o»won -
Dom: :ComplexC oaomn -

Dom::IntegersMod(n)anﬁéﬁZ -
P omhs -

M, (Ring) myav byn Dom: : SquareMatrix M, npyanm my»on -
Dom: : SquareMatrix (Dom: : Integer)

: DININT
constructor:=Dom: :IntegerMod(7) :
x:=constructor (3) :
y:=constructor (5) :
domtype (%) ;
xX+y;
xX*y;
x"123;



p:=poly (l+a*x+3*x"2, [x]) :
domtype (p) ;

plx=2; navn
degree (p, x) ;

coeff(p,2);

list:=[[1,0],[a,3],[b,5]1];
p2:=poly(list, [x]);
poly2list (p) ;

p3:=poly (x+1, [x]):
p+p3;

p*p3;

divide (p,p3)
factor (p*p3) ;

gcd(p,p3) 7
D(p) ; n1tTa
int (p); N'¥12101"R

pé:=poly (4*x+11, [x],Dom: :IntegerMod(3)) :

domtype (p4) ;
p4|x=2;

reset () :

A:=matrix([[1,2,3,4],

[a,b,c,d],
[sin(x),cos(x),exp(x),1n(x)]]);
Dom: :Matrix () ;

vi=matrix ([[x1], [x2], [x3],[x4]]);
A*v;

A[2,3];

A[2,3]:=4:

All..2,2..31;

transpose (A) ;

diff (A, x);

int (A, x);

map (A, x->x"2); D*12'®N 22> 2V N9n 2°Dp9an

constructor:=Dom: :Matrix (Dom: :Rational) :

A:=constructor(2,3);
B:=constructor([[1,2,3],[1,2,3]1]1);
C:=constructor (2,3, (i,])->1*73);
constructor (2,2, [11,12],Diagonal);
constructor::identity(2);

constructor2:=Dom: :SquareMatrix (2) :
A:=constructor2([[0,vy], [x"2,1]1]1);

: DI

YL YYN DI NITIN

:XIVN

NnYav Yyn N¥OILVN

NPYIII MXION



domtype (A) ;
A”(=1);
exp (A);

190N

1
=——— :15 5712 VIV NIVN NN TN
i+]-1
H ooy Hx=(1,...,1)" no7ynn nx N
DMV DPYT Y float MYIVN DY DIYNIVYTY DIGDN YW NINIVN DY D)INN NN N
con:=Dom: :Matrix (Dom: :Rational) :
H:=con (15,15, (i,3)->1/ (i+j+1)):
e:=con(15,1,1):
X:=H"(-1) *e;

i

9 NNMUNI NNV NMIYH

DIGITS:=100:
con:=Dom: :Matrix (Dom: :Rational) :

: MOV MNP
:=Dom: :Matrix (Dom::Rational) :

:=con (3,3, (i,3)->1/(i+3+1)):
::col (H,2);

crow (H, 2);

::delCol (H, 2);
::delRow (H, 2) ;

::matdim (H) ;

ctr (H) ;

::transpose (H) ;
::identity(6);
=M(2,2,[[1,2],1[03,11]):
linalg::det (A);
linalg::charpoly (A,vy):;
linalg::eigenvalues (A) ;
M:=Dom: :Matrix (Dom::Float): 10D N110N?
A:=M(2,2,[[1,21,[3,11]):
linalg::eigenvalues (A)
linalg::eigenvectors (A);
linalg::nullspace (A);

PREEREREREERREEER

, 7., 5ym DORPININ Hyn 2A+ BB n¥dvnn Hw m:mnn Nk 12wn ;nn

1 30 7 -1
A=-1 2 7|, B=|2 3
0 81 0 1

MY ININ DINDIN ,NVINHIVTH NN IR .INYA 1) PNOIYNI DON DY NXN N¥AVN A 99N
V7Y 99 HYONSYN ANINM



QPN

f:=1/(exp(x°2)+1);
g:=diff(f,x);

int (g, x);

int (g,x=0..PI);
p:=exp (-x"2) ;

int (p,x-0..5);

simplify ( (exp(x)-1)/(exp(x/2)+1) );
simplify ((cos(x))"2+(sin(x))"2);

limit (sin(x)/x,x=0);

limit ((1+1/n) " n,n=infinity);
sum (i, i=1..n);
sum(1/1i72,i=1..infinity);
product (i*3,1i=1..n);

eqn:={xty=a, x-a*y=b};

solve (eqn, {x,v});

solve (x*exp (x)=x, {x});
solve (x*exp (x)=x, {x},Real) ;

NXMLVNN a,b,C Y DI IR NIY INND :29IN

1 awb
Dvanner |1 1 ¢
111
NP9
plot (sin(x));
plot (sin(x)/x);

plot(sin(x)/x,x=-1..1);

plot (x"2+5*y"2,x=-3..3,y=-3..3,#3D);
plot (x"2-5*y"*2,x=-3..3,y=-3..3,#3D);
plot (-x"2-5*y"2,x=-3..3,y=-3..3,#3D);

scatter plot
plot (plot::PointList2d([[1,1]1,([2,2]1,([3,311));
plot (plot::Polygonz2d ([[1,1],[2,4],[3,311));

plot (plot::PointlList3d([[1,1,1], [1,2,2], [1,3,2], [1,3,47],
(2,1,11, [2,2,3], [2,3.5, 4]],PointSize=5));



plot (plot::Polygon3d([[1,1,1],[2,4,2]1,13,3,111)):

NMIND NN MNNIN NPIPND
plot (plot::Implicit2d(x"3 + x + 2 = y*"2,x = -5..5, y = =-5..5));
plot (plot::Implicit3d(x"2+y"2+2z72=1,x=-2..2,y==-2..2,2=-2..2));
plot (plot::Implicit3d(x"2-y"2+2z"2=1,x=-2..2,y==-2..2,2=-2..2));
plot (plot::Implicit3d(x"2-y"2-2"2=1,%x=-2..2,y=-2..2,2=-2..2));

( (=x"2-y"2-2"2=1,%=-2..2,y==2..2,2=-2..2)

)

plot (plot::Implicit3d
NIVNIS MNN
plot ([2*cos(t),sin(t)],t=0. 2*PI)
plot ([t*cos(t),t*sin(t)],t=0..2*PI):
plot ([t-sin(t),l-cos(t)],t=0..6*PI) (93932 92INN0 LY) NPRIDPN

NPING MONDTNNIP
plot (plot::Polar([l-cos(t),t],t=0..2*PI)): NNV IP

<. IMAVAN NN T



